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QUESTION 1
Given the SAS data set WORK.BP

subjid 3BF DBP

01562 145 BS2
02457 130 &7
034gs 117 7B
0iss8 135 85
02678 145 79

The following SAS program is submitied:

data
WORE . HIGHEF
VORE . NORNEP
WORK. INVESTBP;
aet WORE, EBP:
if SBP gt 140 and DBP gt 90 then output WORK.EIGHEP:
if SBP lt 120 and DEP lt 80 then output WORK.KCEMEP:
else output WORK. INVESTHEP:
cun;

What is the result?

A. WORK.HIGHBP has 1 observation WORK.NORMBP has 1 observation WORK.INVESTBP has 3 observations
B. WORK.HIGHBP has 1 observation WORK.NORMBP has 1 observation WORK.INVESTBP has 4 observations
C. WORK.HIGHBP has 1 observation WORK.NORMBP has 1 observation WORK.INVESTBP has 2 observations

D. WORK.HIGHBP has 2 observations WORK.NORMBP has 2 observations WORK.INVESTBP has 3 observations

Correct Answer: B

QUESTION 2
A SAS program is submitted and the following log is written.

893 data WORK.CHECEVISITS:

294 set WORE.VISITS (keep=FATID VISDTO VISDT1 VISDTZ VISDT: VISDT4H):
895 array YISDT (1:4):

=f=13 do -i=1 to 4:

897 if VISDT(i) WISDPT(i-1) gt 10 then cutput;
295 end;
899 run:

ERROR: Array subscript out of range at line 897 coluwmn 21.

What is the cause of this error message?

A. The ARRAY declaration is syntactically incorrect.
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B. The IF statement is syntactically incorrect.
C. The DO loop tries to get a value from a variable which does not exist.
D. The IF statement tries to get ARRAY elements which are not declared.

Correct Answer: D

QUESTION 3

Given the SAS data set WORK.VS1:

Subject _Name Wizitl WVisit2 WVisdictd Visitd Visich

101 SBP 160 150 i 130 120
The following SAS program is submitted

data WORE.V352;
get WORK.V3l;
Total=mean(of Visit:);
cun;

Which value will be assigned to variable TOTAL?
A. missing

B. 112

C. 140

D. 560

Correct Answer: C

QUESTION 4

Identify the CDISC model with the following characteristics:

?XML-based content and format standard

?facilitates the archive and interchange of the metadata and data for clinical research
?provides an accurate audit trail that is 21 CRF Part Il compliant

A. Analysis Data Model (ADaM)

B. Operational Data Model (ODM)

C. Study Data Tabulation Model (SDTM)

D. Trial Design Model (TDM)
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Correct Answer: B

QUESTION 5

Given the following data set:
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The following output was generatec from PROC PRINT

ks sub)id
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Which program was used to prepare the data for this PROC PRINT output?
A. proc sort data=one out=two; by subjid; run;

B. proc sort data=one out=two nodupkey; by subijid; run;

EEL

(o B IR - I -

cesule

CE
FD
FE
CR
an
5D
PD

dr ime

o

B L ek [ ek i

C. proc sort data=one out=two nodup; by subijid; run;

D. proc sort data=one out=two nodupkey; by subjid trt; run;

Correct Answer: B
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